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1. B 1 
2. C 1 
3. B 1 
4. Let the given points be: 

A(-2, -5) = (x1, y1)       B(6, 3) = (x2, y2) 
The line x – 3y = 0 divides the line segment joining the points A and B in the 
ratio k : 1. 
Using section formula, 
x = (6k – 2)/(k + 1) and y = (3k – 5)/(k + 1) 
Here, the point of division lies on the line x – 3y = 0. 
Thus, 
[(6k – 2)/(k + 1)] – 3[(3k – 5)/(k + 1)] = 0 
k = 13/3 
Therefore,  
x = [6(13/3) – 2]/ [(13/3) + 1] 
= (78 – 6)/(13 + 3) 
= 72/16 
= 9/2 
And y = [3(13/3) – 5]/ [(13/3) + 1] 
= (39 – 15)/(13 + 3) 
= 24/16 
= 3/2 
Therefore, the coordinates of the point of intersection = (9/2, 3/2). 
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5. Two vertices of ΔABC are A(-1,4) and B(5,2). Let the third vertex be C (a, b) 
Then the co-ordinates of its centroid are 
C= (−1+5+a)/3,(4+2+b)/ 3 
C= (4+a)/3, (6+b)/3 
But it is given that G(0,-3) is the centroid. Therefore 
0=(4+a)/3,−3=(6+b)/3 
⇒       a=-4 , -9-6=b 
⇒    a = -4, b = -15 
Therefore, the third vertex of ΔABC is C(-4,-15) 
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6. 
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7. A) the required point is (1/2, 0) 
B) the required point is (0,1) 
C) & D) DO IT YOURSELF 
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